i Wy O _E 07 [A]

FAHEL 2 JF FRIMI-AC-BC ] FE[ I K4 [

5.1 ROBEENET T 7IZBNT,
() WIZHEEL T D AT 2O TR EZ RO X,
(1 f(x)=x*-3x+4 (x=1)

f()=x*-3x+4 XV f'(x)=2x-3

ko< b=f@1)=1-3+4=2, m=f'(1)=2-3=-1
WE-T, Kb dEHMOFEAL y—2=(-1)x(x-1)
Soy=-Xx+3

@ f(x)=e* (x=0)
f)=e* Lb  f(x)=—e"

5T  b=f(0) =€ =1, m=f'(0)=—e" =1
- T, R DO HRAL y—1=(-1)x(x-0)
Sy =—x+1 [E 27 fiE]
(1) e =1
3 f(x)=log(x*+1) (x=1) (2) loge=1
- (3) logl=0
f(x)=log(x*+1) XY f’(X)=X2+1 X110/ CTHZ X
£oT b=f@)=log2, m:f’(l):izl
1+1
W~ T, Kb pEHDOITEAL y—log2=1x(x-1)
Soy=x-1+log2
(4) f(x)=v3x+1 (x=1)
/ . , 1
f(x)=+3x+1 XV f'(x)= 3 o nAl - (o :m
24/3x+1
3 3
FoT  b=f@Q)=+4=2, _ o3
> W =4 m=10=37"3
1> T, R DEHEDFFRAUIZT y—2:%><(x—1) .'.y:%x+%
B) f(x)=Tan'x (x=1)
f)=Tan'x £V (0=
X“+1
EoT  b=t@=Ta'@=1, m:f’(l):%

T, Kb BEMO I y—%:%x(x—l) y:%x—%+%



